Paper One                                       Answers                                          5 / 5 / 2013 

________________________________________________________________________ 

Reading  : ( 40  points )

Question One  (18 points )                                                                                                           A: (4  ×  3 =12 Points)                                                                                                                                       1-  (a) .Traditionally some children were expected to die young and (b) the rest were needed for the family's economic survival .                                                                                                                                                           2- ( a)This means they marry and have children later( b) they choose to have smaller families 
3-(a)there will be major new demands on our natural resources and (b)there will also be major pressures on our environment .                                                                                                                                                   4- people are competing with each other for resources and doing great damage to the environment while our world slides towards a disaster .(conflict )                                                                        
(B) (3 × 2  =6 Points)      1-True    2-False    3- False 
________________________________________________________________________ 
Question Two (22points )                                                                                                                                               A. Complete (3 ×2=6points ) 

1-Equal education for girls                                                                  
2- We will have a much larger population than we have now                                                                  3- Modern methods of birth control .                                                                                                                              
B –(3 ×2=6points )
1- girls ' …….didn't have skills                                                                                            
2-when the world's population becomes much larger than now.                                                         3-all people's choice .                                                                                                                                        
C-(2 ×1=2points )

1- good education and the opportunity to have a good career .                                
2-the gradual rise in the temperature of Earth (the world ).                                                                               

D-(4 ×1=4points) 1-expected        2. Limit      3-especially    4- prepare                                            
E-(4 ×1=4points )1-sensible           2.allow      3-natural         4-peace 
_______________________________________________________________________ 

Part Two : Vocabulary ( 35 Points )

Q. 1: (5 ×  1 =5 Points)  1: conflict   2: projects      3: budget     4: priority    5: values 

_______________________________________________________________________
Q. 2  A: (6  ×  0.5  =3 Points) 1. banking   2. overdraft    3. director  

                                                4: peaceful   5: novel    6: report 
B: (6  ×  0.5  =3 Points)    1: brought down    2: get on    3: put …. off    4: write .. down 

                                            5: give up     6: sort … out 

________________________________________________________________________ 

Q. 3 A: (4  ×  0.5  =2 Points)  1: bottom    2: answer    3: dangerous    4: refused 

B: (4  ×  0.5  =2 Points)  1: pay in    2: actually     3: planet     4: schedule 
________________________________________________________________________
Q. 4 (5  ×  1  =5 Points)      1: productive          2: constructed      3: immigrants 

                                            4: effects             5: uninformative 

________________________________________________________________________
Q. 5 A: (3  ×  1  =3 Points)  1: driving licence      2: fossil fuels      3: global warming 

B: (4  ×  0.5  =2 Points)    1: high     2: sad     3: easy     4: exhausting 

________________________________________________________________________ 

Q. 6  A: (3  ×  1  =3 Points) 1:  c            2: b                3: a 

B: (2  ×  1  =2 Points)   1: a 938 - foot hill        2: a Chinese - American community 
________________________________________________________________________ 

Q.7  A: (3  ×  1  =3 Points) 1: and so      2: despite     3: as 

B: (2  ×  1  =2 Points)    1: garbage      2: cash machines     3: harbor     4: tyre  
